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=
NS Ed d4H 28 S
CLE-E
ONLNEY srgisls seN @iEn | ;e*lil .
S ol ~1(2o IR | o™ | c2 | XE| a4y | L2 Eysg == | (ML)
PR m | (M |z% x| 22 | JiF ol
e 5,871 | 70,760.5 2,046,269
1800 22 3,078 | 16,142.4 272,400
= d 0+412~512(240) | 100 | 700.0 1.08%
= M 0+412~512(ZF)| 100 | 700.0 1.08%
= M 0+721~821(24H | 100 | 700.0 4.50%
= o 0+721~821(Z%)| 100 | 700.0 4.50%
=4 ot 9
1+670~1+770(2%) | 100 | 7000 2.18%
24 a 2k | AT | 80Kn/h | 79013 | ==
s terniay | 100 | 7000 | ES 2.78%
Ve .
D+492~2+551 () | 99 | 4130 1.30%
=4 ol 38 | 266.0 .30%
2+517~2+555(H =) ‘ '
e & 940 | 6,580.0 6.50%
4+620~5+560(5 4 +580. :
‘ 0ORHZ R-A ,
13.01.10 0+045~167(A =) 122 | 396.5 8.66% 27,400
'19.12.31 O0OBAZ R-D . '
AT 3gi 0 E) 107 | 347.8 6.48%
O0uxZ R-D o
0+294~402( Al &) 109 | 3543 Ipz2| ax | dokn/h | 115015t | 868% | 5=
OORAZ R-A .
0+324~449(Z %) 125 | 406.3 3.63%
OORAZ RA
0+324~(R-B) 202 | 6565 3.63%
0+170(002)
0ORXZ RA .
0+320~414(00=8) | 4 | 3055 5.68%
00RXZ R- _ - e
TG 104 | 338.0 |DXI2 K| 40kn/h|11%013t | 0.68% | E=
OORAZ R-C .
0+234~370(240) 136 | 442.0 6.58%
OORXZ R-B _ o | e
OOty | 442 | 14365 [mX2| X | 40/n | 11%015] 10.00% | &
A 50 22 855 | 5,497 209,499
0+240~0+585 345 | 2,415 Eg =7 70km/h| 6%013H 5.50%
0+100~0+145 45 | 146 |mx2| &K 60km/ 7%013t | 1.63%
17.03.02 0+160~0+245 85 | 276 |mx=| & 60km/n 7%013 | 163% | 2z | ngg 499
! [Zal _
21.02.28 14300~1+400 100 | 700 | 28| x| 70km/n 6%015H | 4.50%
24 ;
2+680~2+960 280 | 1,960 | 25 | &I |70Kkm/h| 6%0I5t | 5.70%
X 1801 22t 1,680| 47,415 1,488,885
0+845.4~0+930.5 | 85 | 2261 | 25 | BX|80kn/h| 49015} ~0.32%
17.03.02
~ 1+045.0~1+4130.0 | 85 | 2,513 | 2 | mx|gokn/h| 4%0151 2.26% | BF | 1.488,885
'21.02.28 ’ ' ' E= ]
14265.2~14340.0 | 85 | 2,132 | 2hd | TX|80kn/h| 49%O015H —1.68%
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0+550~0+636(4})

c=
2FM |
1+868.5~1+968.5 | 90 | 2,602 | 25 | BX|g0kn/h 1.59%
JEAM |
2+020.1~2+111.0 | 90 | 2,686 | &< | BX|80kn/n 2 44%
2EM |
2+305.0~2+390.0 | 85 | 2.286 | oo | X|80Kn/h 0.30%
b |
2+437.2~2+502.3 | 85 | 2,550 | &5 | BX|80kn/h 2.21%
2FM |
2+684.5~2+760.5 | 85 | 2,589 | Zo | X|80kn/h ~0.53%
JEA |
2+810.0~2+980.0 | 170 | 4611 | 25 | BX|gokn/n 3.59%
2|
3+013.2~3+103.2 | 90 | 2,118 | 2o | BX|80kn/h -1.69%
IEM |
3+500.0~8+500.0 | 90 | 2,640 | 25 | BX|80kn/h -0.31%
2N |
3+635.0~3+725.0 | 90 | 2638 | &< | BX|80kn/h ~0.31%
2 |
3+830.0~3+920.0 | 90 | 2711 |25 | ®X|sokn/h 1.69%
JEA |
3+065.0~4+055.0 | 90 | 2,689 | &S | BX|80kn/h 1.69%
2|
4+451.5~4+551.6 | 100 | 3,006 | 25 | BX|8okn/h 2.23%
2 |
4+595.5~4+695.6 | 100 | 2963 | &< | BX|80kn/h 3.30%
2N |
4+882.8~4+967.8 | 85 | 2,528 | S o | BX|80Kn/h ~1.35%
2|
5+022.1~5+107.1 | 85 | 1,897 | 25 | BX|8okn/h 1.01%
X 3 72t 258 |1,706.1
Y =] ]
Ortooreaean | 86 | 5335 5.4922%
SEdYL= 86 | 714.1 S ax| 20 4.8830% ==
0+315~0+400(5t) 2z | | km/h : oL ==
S=ddz= 86 | 458.5 6.0000%
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